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Calculus Practice: Definition of Derivative 1a

Use the definition of the derivative to find the derivative of each function with respect to X.

1) f(x)=x+3 2) y=5x-1
A f'(x)=1 dy dy
A) —=5x-7 B) —=5x-5

B) '(x)=5 ) ™ ) o
C) f'(x)=x+5 dy dy

: C) —==5 D) —£=-3
D) f'(x)=x+4 ) ix ) dx
3) y=3x2+2 4) f(x)=-4x>+3

dy A) f'(x) = —8x
A) dx_6x B) f'(x)=-8x—8

dy ., C) f'(x)=-4x-1
B) G =6 10 D) f'(x)=—8x2—7
C)ﬂ=3x+3

dx
D)d—y:6x+7

dx

A) f'(x)=-8x+4 A) f'(x)=x+13
B) f'(x)=—-4x+6 B) f'(x)=2x*+4x-1
C) f'(x)=—-4x-7 C) f'(x)=2x+4
D) f'(x)=—8x>+4x+2 D) f'(x)=6x+1
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7) y=~N-3x+5
dy 3V-3x+5
A F=-""T"""°
dx 2
B)ﬂ=9x—15
dx 2
N
dx  N-3x+5
Yo 3
dx 2V =-3X+5
2
9) fix)=-
) () 2x -3
2
A) f'(x)=
) f'(x) 3
4
B) f'(x)= ————
AL 4x> — 12X+ 9
6
O f'(x)z2————m—
Ry 4x% — 12X+ 9
4x — &
D) f'(x)=——mMmM8M—
AL 4% - 12x+9
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A 0=

B) f'(x)=2x+4

C) f'(x)=V2x+4
( 2

1

0 y=-37
d 1
A)—y227
dx x“—4x+4
d X+4
B)—y=2—
dx x“—4x+4
d 2
C)—y=27
dx x“—4x+4
D)ﬂ= X+5

dx x*>-4x+4
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Calculus Practice: Definition of Derivative 1a

Use the definition of the derivative to find the derivative of each function with respect to X.

1) f(X):X+3 2) y:5X—1
*A) f'(x)=1 dy dy
B) f'(x)=5 ) 3 =X ) 4=
O) f'(x):x+5 dy dy
D) f'(x)=x+4 *C)&=5 D)&:_g
B Y= 4) 1) =—4x +3
ay *A) f'(x)=-8x
% -7 _
A) dx—6x B 1100 - 58
dy _ .o C) F'(x)=—4x— 1
B)&—6X -10 D) £ = 8¢ - 7
C)ﬂ:3x+3
dx
D)ﬂ=6x+7
dx
5) f(X)=—4X2+4X+4 6) f(X)=X2+4X—3
*A) f'(x)=—-8x+4 A) £ =x+13
B) f'(X) —4X+6 B) f'(X)=2X2+4X—1
C) f'(x)=—-4x-7 +C) (x) = 2x+ 4
D) f'(X)=—8X2+4X+2 D) f'(X)=6X+1
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7) y=~N-3x+5
dy 3V-3x+5
A L=
dx 2
B) ﬂ=9x—15
dx 2
N
dx  N-3x+5
dy 3

2
2X -3
2
A) f'(x)=
) £'(x) 3
4

9) f(x)=-

*B) f (x)

C) f'(x) 6

D) f'(X) 4x — 8
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T 42— 12x+9
T 42— 12x+9

T 42— 12X+ 9

1

0 y=-37
*A)ﬂ:%
dx x“—4x+4
d X+4
B)—y=2—
dx x“—4x+4
d 2
C)—y=27
dx x“—4x+4
D)ﬂ= X+5

dx x*>-4x+4
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